UGC-DEC-15 PAPER-1 27/12/2015 Set :- P Date.02/09/2016 Pg. 1
SUBJECT CODE & NAME:-—

[ONO |KEY|QNO |KEY|QNO |KEY|QNO |KEY| ONO |KEY| ONO |KEY| QONO |KEY| ONO |KEY|

9=No option is correct or the question is wrong, A=1&2,B=1&3,
C=1&4,D=1,2&3,E=1,2&4,F=1,36&4,G=1,2,3&4,H=2&3,1=2&4,J=2,3&4,K=3&4
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SUBJECT CODE & NAME:-—

[ONO |KEY|QNO |KEY|QNO |KEY|QNO |KEY| ONO |KEY| ONO |KEY| QONO |KEY| ONO |KEY|

9=No option is correct or the question is wrong, A=1&2,B=1&3,
C=1&4,D=1,2&3,E=1,2&4,F=1,36&4,G=1,2,3&4,H=2&3,1=2&4,J=2,3&4,K=3&4
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SUBJECT CODE & NAME:-

[ONO |KEY|QNO |KEY|QNO |KEY|QNO |KEY| ONO |KEY| ONO |KEY| QONO |KEY| ONO |KEY|

9=No option is correct or the question is wrong, A=1&2,B=1&3,
C=1&4,D=1,2&3,E=1,2&4,F=1,36&4,G=1,2,3&4,H=2&3,1=2&4,J=2,3&4,K=3&4
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SUBJECT CODE & NAME:-—

[ONO |KEY|QNO |KEY|QNO |KEY|QNO |KEY| ONO |KEY| ONO |KEY| QONO |KEY| ONO |KEY|

9=No option is correct or the question is wrong, A=1&2,B=1&3,
C=1&4,D=1,2&3,E=1,2&4,F=1,36&4,G=1,2,3&4,H=2&3,1=2&4,J=2,3&4,K=3&4



